BOLUM 1 : LIMIT ve SUREKLILIK

(TKO1) 1.a)5b}4 2.3 3.6 43 5-2 6.4 7.5
(TKO2) 1.-1 2.5 3.27 4.24 56 6.6 7.7
(TKO3) 1.8 2.11 3.6 4.3 512 6.2
(TKO4) 1.2 2.6 3.2 4.3
(TKO5) 1.2 2.3 3.1 4.3 5.2
(TKO6) 1.-2  2.a)1b)0c)2 3.2 4.6 5 42
(TKO7) 1.2 2.6 3.10 4.-5 55  6.a)0b)1c)Yokturd)4 e) f4
(TKO8) 1.2 2.-3  3.Yoktur 4.2 5-2 6.2 7.8 8.-5 9.0
(TKO09) 1. Yoktur 2. o 3. 4o 4. —«o 5. —© 6. —o 7. 400 8. -
(TK10) 1. +0 2.1 3.0 4.0 5. +» 6.+0 7.0 8.1
(TK11) 1.36 2.0 3. 4+o 43 5-2 6.0 7.9 8. %
(TK12) 1.40 2. < 3.0 4. 4o 511 6. % 7.21
(TK13) 1.-1 2.1 3. % 42 57 64 7.6 82
(TK14) 1.~ 23 3.+ 41 53 6. > 7.3
2 2 4 4 2
(TK15) 1.-3 2.4 3.5 4.4 54 6.2
(TK16) 1.4 2. 5 312 42 52 6 7.-3  8.-55
10 5 4
1 1 3 1
(TK17) 1. — 2.— 3.-= 412 54 6.3 7.48 8. —
2 2 2 7
(TK18) 1.8x 2.1 3.24 4.8 5.4
(TK19) 1.6 2.10 3.2 4.1 5. % 6.1 7. % 8.-4 9.-4 10.2
(TK20) 1.0 2.« 3. —iz 42 55 6m=2n 7.ala 8 =
a T
(TK21A) 1.2 2.4 3.5 42 54 6. (8x) 7.-2 8. %

(TK21B) 1.[90) 2.10 3.18 4.6 5. (26) 6.5

(TK22) 1.2 2.2 3.3 44 53 6.2 7.-4
(TK23) 1.5 2.5 3.D 4.2 5.A

BOLUM 2 : TUREV - 1

(TKO1) 1.62 2.% 3.3 4.7 5.%

1.5 12.4 13.15 14.12 15.2 16.5 17. -1 18. 11 19.6 20. 1
21.25 22.6 23.3 24. 4 25.7 26.4 27.2 veya -2 28. 18 29.5

6.2 7.12 8.3 9.3 10.8

(TKO02) 1. a)Yoktur b)Yoktur 2.4 3.-9 4.2 5.39 6.2 7.14 8. % 9.8 10. R\{0,1}

1.5  12.1 13.3 141 154  16.R\{3) 17.R 18.R  19.52 20. R\{-1}
21.6 22,5 23.9 24.3  25.Yalnizl 26.3 27.4
(TKO3) 1.3 2.12 3.24 461 536 6238 772 8128 9.-55

(TKO04) 1.16 2.3 3.10 4.7 5.29 6. 15.6% 7.24 8.1
(TKO5) 1.-21 2.3 3.3 4, — 5.3 6.1 7.28

(TKO6) 1.35 2.1 3.9 4.3 5.10 6.15 7.16



(TKO7) 1.1  2.16  3.Yoktur 4.-8 5-8 6.6 7.3 8.18
(TKO8) 1.3 2.4 3 -— 4125 56 62> 7.
16 3 6
(TKO9) 1.10 2.12 3.2 4.6 51  6.36 7.24 8. %
b1 b 3n . 1
(TK10) 1. -— 2= 3.-=2 4.8 52sn2 6.-n 7.—
4 4 16 4
(TK11) 1.3 2.-%~  3.2r 44 5% 6 7.-+
6 2 2
(TK12) 1.In4  2.In4 3.1  4.In8¢  5.In256 6. In% 7.n4 8.0  9.In5
(TK13) 1.3 2.6 3.13 4.2 5. % 6. % 7.-sin2  8.10 9. 2¢2
(TK14) 1.4 2 £ 3.24 4 - 5. /3 6.3¢ 7. N2 8. 9. 2>
e e 4 2 2
(TK15) 1.990 2.5'0 3 22019 4 39 cos3x 5. 2'9.sin2x 6. 8!
(TK16) 1. - = 2.1 3..4 41 5 - 6. 2e+e’ 7.0 8 —— 9.-2
3 5 2 2
8 3
(TK17) 1.2 2.1 31 4 -— 51 6 712 84e
T
(TK18) 1.18 2.0 3.4 4.144 518 6.1 7.2
1 1 1 1
(TK19) 1. — 2. —— 3.5 4.— 51 6. —  7.16
11 4 3e 6
(TK20) 1. x*.(1+Inx) 2.In27e 3.1 4.In3 5.0
BOLUM 3 : TUREV - 2
(TKO1) 1.6 2. 3
5 2
27
(TKO2) 1.-90 2.9 3.3 4.0 5 - 6.7 7.1 8.-3
(TKO3) 1.5 2.7 3.-16 4.4 59 6.6
(TK04) 1.0 2.7 3.-12 44— 5+ 17
3 4 4
(TKO5) 1.5 2.4 3.-7 4.3 5 17 6 %
(TKO6) 1.-4 2.4 3.8 4.0 586
(TKO7) 1.8 2.8 3. —— 44 s5_-+ 61
2e 4 2
(TKO8) 1.2 2.8 3.3 4.7 515 6.2
(TKO9) 1.12 2. - 3.9 4 -t 5 -
2 2
(TK10) 1.(-22) 2. (-»o-1)  3.[-33] 4. (-66) 5E  6.D
(TK11) 1.5ymaxve —27ymin 2.4 3. 12.e 2ymax,0ymin 4. 5—;+\/§+1ymax,%—\/§+1ymin
7.1 87  9.[03] 10. (-4,4)
(TK12) 1.6 2.81 3.5 42 5-3  6.-12 7. (-226)ymax (2-6)ymin,(0,10)BN.
(TK15) 1.0 2.D 3.B

5.9



BOLUM 3 : TUREV - 3

(TKO1) 1.a)8b)3c)6  2.a)-18b)5  3.a)4b) /34 4.5 5.4 6. 44
(TKO2) 1.800 2.900 3.90 4.900 5.3 6. 8
4+1
(TKO3) 1.16 2.16 3.3  4.18  5.33 6.4
3 o
(TKO4) 1.5J5  2.432 3.% 4 Y28 532 6.8
e
(TKO5) 1.500 2.8 3.16J3  4.18 5.6 6.12
(TKO6) 1.5 2.4 3.-2 4.5 5.5/2 6.2
(TKO7) 7. % 8.32 9.16  10.-64
(TKO8) 1.11  2.24 3.7 4.-5 5.m=2n 6.10 7.-8 8.3 9.4 10. 3y=3x+1 1.
13.2 14.2
BOLUM 4 : INTEGRAL - 1
(TKO1) 1.12 2.2 3.-1 4 —g
(TKO2) 1.1  2.-1  3.7%+3
(TKO3) 1.2x+5 2.9 3.2 4.e*  5.-1 6.2
(TKO4) 1.3 2.4 3.2 4.3 5-7 6.6 7.2
e
(TKO5) 1.9 2.6 3.27 4.8 5.3 6.-5 7 —%
(TKO6) 1.11 2.2 3.2-2 4 1+Z-mnl
4 2 4
2.(2x-3)° 4 3 (x2—3)4 (3 3x)°
(TKO7) 1. —— =/ .¢ 2. —(3x-2)2 +c 3.1 4 +cC 5. +c
3 3 4 9
3
43 N\ 4
6. ?(x +2) ve 715 8 -
(TKO8) 1. %-In‘x4+1‘+c 2. %-In 3X—1‘+c 3. In‘1+e2x +c 4. —2In‘2+sin2x‘+c 5. 3(x—In|x+1))+c
n
6. x2+1—ln‘x2+1‘+c 7.3 8.3
3 X
X7 +1 e 2
(TK09) 1. e( )+c 2. x*+c 3. 26"V ¢ 4 e( )+c 5. %% *4¢ 6. e'ttanx ¢
8. 621
(TK10) 1. 2x+—2x-3[+c 2. —4c 3. -— 1 o anXHie 5 Linp=3
2 - X+1 (x+1)2 X +1 4 | x+1
2 sinx—3
6. 3-In‘x —36‘+c 7. In|>
sinx+2
cos3* 5 1 3
(TK11) 1. - +c 2. sin2x+c 3. x+?-sin2x+c 4. 2x-sin2x+c 5. -3cosx+cos” x+¢C
. 3 . 5 5 ) 4
6. 20 X SN X ¢ 7. 2.225 X _cos®x+cosx+c 8. Snx_sihx X+c
3 5 5 5 7

(TK12) 1. 2xe* -2e*+c 2. -2xc0s2x +5Ssin2x+¢ 3. xInx-x+c¢ 4. %

5.2 6.

n—1

6

12. -6



5 er

(TK13) 1. (x+1)e"+c 2. x4 =——

2

. cos2X
4. —x2 COS2X + XSiN2x +

BOLUM 5 : INTEGRAL - 2

(TKO1) 1.2 2.0 3.100 4.2 5.3 6.5 7.4
(TKO2) 1. 2 % 3.6 4.3 5.9
4 2
(TKO3) 1.9 2.10 3.~ 45 51 62 7.2 810
e e
(TKO4) 1. 6x 2.2 3.3 416 5.6%+8° 6.6 7.18 8.%
(TKO5) 1.24 2.3 3.A 4.% 5.4
(TKO6) 1.4 2.3 3.3 414 523 6. 8‘gﬁ 7.3 8.1
(TKO7) 1.6 2.5 3.e3 4. % 58103 6.In9 7.2 8. In%
(TKO8) 1.5  2.logy7 3.5  4.13 5.%‘1 6.1  7.Je-1 8. e
1 . 2 1
TKO09) 1.2.2-2 2. 643 -6-— 31 44— 51 62 7.—
( ) 1202 V36— 160 4 n 3
(TK10) 1.3 2. 7% 3. 7% 41 5343  6.43-1  7.3-1
(TK11) 1.1 2.e2 3.7-1 4 %71 52 6.6 7.2 8.6
(TK12) 1.% 2.e 3.2 4 126 5  6.-3
(TK13) 1. 7% 2.4 3.4 418
BOLUM 6 : INTEGRAL - 3
(TKO1) 1.45 2,21 3.6 412 530 621 7.64 8116  9.60
1 . 4 3
3.4  l4loge 15snl 16> 17 182 19.1  20.tani
(TK02) 1.10 2.%
(TKO3) 1.-24n64  2.64  3.18
(Tkos) 1.2 2.2 32 4 ¥2 54 611
6 2 2
(TKO6) 1.10-n16  2.58 3.4 4 - 52 g2
2 8 3
3
(TKO7) 1.2 2.1 328 432 55 e
3 3 3
(TKO8) 1.12 2.3 3.4 46 510  6.32
(TKO9) 1.2 2.56 3.9 411 5.5
(TK10) 1.8 2.24 3.4 4, % 5. 22 6.16 7. “‘4"4

(TK13) 1.n 2.8t  3.31+6

e2X  g2x cos 3x
+c

- X. > + +C 3. x.sin3x+

+C 5. —2x.cos\/;+4\/;.sin\/;+4cos\/;+c

4. 4n+6+/3 5. 1 6. 3n 7. -2

—
i
SHINIEN BN

1.
3

12. e-1



